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QID : 101 - Select the related word from the given alternatives.
Hope : Despair :: Lunatic: ?
U a1C faehodl 7 & Hefld Ueg I AT

37T : FARTRT 1z GTITS : ?
Options:

1) Honest

$ATER

2) Hardworking

R

3) Sane

ICEEICE

4) Stylish

Ffrer

Correct Answer: Sane

e

Candidate Answer: Sane

Tameafrer

QID : 102 - Select the related letters from the given alternatives.
MOQ:NLJ::SUW:?

T arv et 7 & Faftra 3t # 9w
MOQ:NLJ::SUW:?

Options:

1) IGE

2) CEG

3) K1 4

4) HFD
Correct Answer: HFD
Candidate Answer: [ NOT ANSWERED ]

QID : 103 - Select the related number from the given alternatives.
111:37::123:7?

v a1e faewedt # & w@efa @ & gfaw)

111:37::123:7?

Options:

1) 41

2)31

3)21

4)71
Correct Answer: 41
Candidate Answer: 41

QID : 104 - Select the odd word from the given alternatives.

v a1e faewmedt 7 & fawer aeg 1 gfaw)
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Options:
1) Wall clock
Srar =gy
2) Painting
ICE]
3) Photo frame
PIeY thaT
4) Carpet
FlelleT

Correct Answer: Carpet

FTelleT

Candidate Answer: Carpet

Earic

QID : 105 - Select the odd letters from the given alternatives.

& a1 femedt & & fawe 3Rt @ giw
Options:
1) LMN

2) PPQ
3) RST

4) VWX
Correct Answer: PPQ
Candidate Answer: PPQ

QID : 106 - Select the odd number from the given alternatives.

few a1e faeredt 3 & fawer e &1 giaw
Options:

1) 80

2) 17

3)13

4) 31

Correct Answer: 80

Candidate Answer: 80

QID : 107 - A series is given, with one word missing. Choose the corre the given ones that will complete the series.

yes, rain, alive, subtle, ?
Tk

T TR T o B, forad uan ereq o B o9 AT ST 3TTshaT T R A

yes, rain, alive, subtle, ?
Options:
1) airport
2) smoke

3) inch

4) fabulous
Correct Answer: airport
Candidate Answer: airport

QID : 108 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

Abcd, ghlJ, Mnop, stUV, Yzab, ?

Teh 3TeTehe 18T 9147 ¥, FSrae Ueh ue vt ¥ ferw 91e faehedt 3 & a8 W fashed AT S TR e AT 11 A |
Abcd, ghlJ, Mnop, stUV, Yzab, ?

Options:

1) efGH

2) Efgh

3) cdEF

4) efCD
Correct Answer: efGH
Candidate Answer: efGH

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTgwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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QID : 109 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.
1,0.25,1/9,?,0.04,1/36
T TR T aran B, forae ve e oo B1 v arv feedt # @ a5 He Feew AT S g O |
1,0.25,1/9,?,0.04,1/36
Options:
1) 0.0625
2) 0.025
3)1/8

4)1/6
Correct Answer: 0.0625
Candidate Answer: 0.0625

QID : 110 - Eshan's birthday is on Friday 10t March. On what day of the week will be Shiok's Birthday in the same year if Shlok was born on 25t September?

ST T STeAeeT AR 10 AT &1 §1 A 2elien &7 St 25 ﬁéﬁ?ﬁg}nmsﬁﬂﬁa&wﬁﬂmm#%ﬂ%ﬂaﬁm
Options:

1) Monday
HHIR

2) Wednesday
TUAR

3) Friday
YehAR

4) Thursday
IHAR

)

Correct Answer: Monday

HHIR
Candidate Answer: [ NOT ANSWERED ]

QID : 111 - The weights of 4 boxes are 70, 50, 30 and 90 kilograms. Which of the foIIo
boxes and in a combination a box can be used only once?

IR SFAT FT goteT 70, 50, 30 3R 90 FFeiams | Pe=faf@a & & gal & Y ofr
T &Y S 92T F AT ST FehelT 87

Options:
1) 220

2) 240 \Q
3) 210

4) 170 ,

Correct Answer: 220

Candidate Answer: 220

QID : 112 - From the given words, select the word whic rmed using the letters of the given word.

SHORTING
ﬁmﬁ@aﬁwﬁﬁﬁﬁ%mgﬁtﬁhm%m%yﬁwmmaﬁmwm:

SHORTING

Options:
1) THORN

2) NITRO
3) NOISE

4) STING
Correct Answer: NOISE
Candidate Answer: NOISE

QID: 113 - If BAPTISM is coded as DCRVKUO, then how will TIN be coded as?

e BAPTISM & fhelt S5 3 DCRVKUO for@r Sirar &, af TIN & 38 s 7 a1 for@r swam?

Options:
1) VKP

2) EBC
3) FDF

4) CLS
Correct Answer: VKP
Candidate Answer: VKP

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTgwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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QID : 114 - In a certain code language, '+' represents 'x', '-' represents '+', 'x' represents '+' and '+' represents '-'. What is the answer to the following question?
45x5-24+3+80=7?
TR s 7T H, '+ FT ATAS X' &, - BT HATAS '+' &, X' FT FATAS '+ & 3R '+ T AT - §| ReAfaf@d 92T Fr 3caR FAm E?

45x5-24+3 +-80=7?
Options:

1) 100

2)52

3)1

4) 82
Correct Answer: 1
Candidate Answer: 1

QID : 115 - If 5$125 = 25, 12$48 = 4 then what is the value of 4$24 = ?

If¢ 5$125 = 25, 12$48 = 4 AT 4$24 = ? & A A Hiford |

Options:

1) 34

2)35

3)6

4)5

Correct Answer: 6
Candidate Answer: 6

QID: 116 -

Select the missing number from
the given responses

fow e Rwedt & & oo
e gfae)

137 |17
17123 [ 19
221 7?7 |323

Options:

1) 30

2) 102

3)29

4) 161

Correct Answer: 161
Candidate Answer: 161

QID : 117 - Two planes start from the same airport. A flies 50 km East. B flies 15 km North, then turns East and flies 20 km, then turns to its right and flies 15 km.

Where is B with respect to A now?

2 FaHATeT T €1 TS 3758 & 331 X &1 A 50 .7, 9 1 3 35T 81 B 15 for.af. Secr 1 3% 33T 8, fhe & ot 3% F73ar & 31k 20 fon. . 330 8, 6T 3relr aré

3R H3 ST ¢ 3R 15 fon A, 35ar §1 A i Feufar & 319 B gt W E2
Options:

1) 30 km East

30 .. @

2) 70 km East

70 R &

3) 30 km West

30 fo.oT. afRas

4) 70 km West

70 5.3, afRaer

Correct Answer: 30 km West
30 for.aT, afRaer

Candidate Answer: 30 km West
30 for.a, afRaer

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTgwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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QID : 118 - In the question a statement is given, followed by two arguments, I and II. You have to consider the statement to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given arguments, if any, is a strong argument.

Statement : Should zoos be closed down?

Argument I : Yes, imprisoning animals is a crime.
Argument II : No, it is fine if some animals are kept in captivity for sake of entertainment.

92U # Teh 2T T a1 & Toraeh 31y e i 1 31N 11 fow ) &1 31T9ehY Aretenr & T el §cg § o1 98 AAad: Ad azdl & f@iest gl gar &l 3mae AT e g
&1 T aTT qf F  FiA-A/FF-F TF A §, AR P A

FYeT: FIT RTSATERT 7 5 fomam ST arfge?

% I: &, SATaX &I g FT U 3O &

& II: 8T, AARSIT & foIT 3R SR &I e 3 @M AT & af 98 51 g
Options:

1) if only argument I is strong.

I Fae o [ A &l

2) if only argument II is strong.

afg Faer o 11 FAad &

3) if both I and II are strong.

Ifg gt 7% 1 3R 11 A &

4) if neither I nor II is strong.

IfE A1 ot 7% 1 3R 1 & 9 11 Aored &

Correct Answer: if only argument I is strong.
afg ot a [ A &

Candidate Answer: if only argument I is strong.

fE Fael 7% [ A ¢

QID:119 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

fArfaf@a sear 3mpfa # 4 &l @1 9=
few arv yeat A A @ g uA @
FEATIT FEH ST Hehell?

1O X
%

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTgwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 5125
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Options:
1)

0

3

);Zf
O Yy

4)

O
>|<36’=

Correct Answer:

O .'o

Candidate Answer: [ NOT ANSWERED ]

QID:120-

In the following figure, square represents Physicians, triangle repr
cricket players, circle represents men and rectangle represen
Which set of letters represents cricket players who are eithe
men?

Frafafad smefa 8 ot fafecs!
@I SUidl g, 9 Goul &l gl
HERT BT DH 1 g fodie

qgeY g2

R

Options:

1) H,F,.D

2) ABE

3)D,FC

4) AG

Correct Answer: A,G
Candidate Answer: A,G

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTgwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 6/25
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QID:121-
Which answer figure will complete
the pattern in the question figure?
farafaf@a # & Sla-d seax arpfa g

R & SRS F T i
= =

Options:

1)

2)

3)

a)

Correct Answer:

Candidate Answer:

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTgwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 7125
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QID:122-

From the given answer figures, select the

one in which the question figure is
hidden/embedded.

a&r 1 3eav Hpfadt A @ 38 gl F gRv
ot weaT et ffea

Options:
1)

2)

3)

>
><

4)

Correct Answer:

VTN
PN AN

Candidate Answer:

VN
AN

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTgwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 8/25
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QID:123-
A piece of paper is folded and punched as shown below

in the question figures. From the given answer figures,
indicate how it will appear when opened.

9o HHAA # B@T AR FETS T
HAlZHT 3THA I A YT Weled & ¢ dg
e 3ear ampfar S e &am?

Options:

1)
OO
OO

2)

a)
ol
0.0
00

Correct Answer:

O
G L
)

Candidate Answer:

O
@ O
)

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTgwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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QID: 124 -
If a mirror is placed on the line MN, then
which of the answer figures is the right image
of the given figure?
g U gdor A MN T@T 9T @l S Al &
Ioat Pt 7 § A IHiT 9 A
F TET giafara gri?

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID: 125-

Options:
1) 42,31,76,68

2) 00,20,57,88
3) 30,12,66,67

4) 67,56,40,88
Correct Answer: 67,56,40,88
Candidate Answer: 67,56,40,88

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTgwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 10/25



9/7/2017 Staff Selection Commision
QID : 126 - From which of the following, is the GDP of a country not derived from?

AR & & R & &30 &7 Tehel Tl 3cUTE ITod 8T g1em &7
Options:

1) Agricultural sector

F o

2) Industrial sector

e e

3) International sector

IR 89

4) Service sector

Far & Fh

Correct Answer: International sector
RTSET &7
Candidate Answer: International sector

R a7
QID: 127 - is the set of all possible combinations of the two inputs that yield the same maximum possible level of output.

3 &Y 3T & TR FAIT AT B BYaT &, S TATeT NTAFAH HHTIT TR AT AT 1o F:m &
Options:
1) The Short Run
K racarc)
2) The Long Run
SrehTer
3) Isoquant
HHT AT
4) Average product

. P &
Correct Answer: Isoquant 1 >
. > - g

AT ATAT
Candidate Answer: [ NOT ANSWERED ]

Supreme Court for advice.

QID: 128 - means that the President of India can refer any matter that c ﬁooﬁ'ance or that which involves interpretation of Constitution to

& IR R T AT SR AT WAL & sarear § T, “afea =amaTers & 9 WAL & O ST gehdr ¥
Options:
1) Original Jurisdiction
Hiforw eAfEsR
2) Writ Jurisdiction
RT FFa=tT s s
3) Appellate Jurisdiction
Jrdrelt aTfReR
4) Advisory Jurisdiction
Hellg FFa=HT sIFReR
Correct Answer: Advisory Jurisdiction
HelTg FFa=HT SIFaR
Candidate Answer: Advisory Jurisdiction

TelTg TFa= &R

QID : 129 - There are total parliamentary seats (Rajya Sabha constituency) in Sikkim.

RafFwa # o ___ d0dg € (Teawen fdtaa &) £
Options:

1) 11

2)19

3) 10

4)1
Correct Answer: 1
Candidate Answer: 1

QID : 130 - Dara Shikoh was killed in conflict with his brother

ERT ARl 319 oS & gy Tuy & AR 47|

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTgwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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Options:
1) Jahangir
SRR
2) Aurangzeb
Eico
3) Babur
CICES
4) Shah Jahan
g STei
Correct Answer: Aurangzeb

Eiroecs

Candidate Answer: Aurangzeb

R
QID : 131 - The Arabic work of al-Biruni that gave an account of the subcontinent is called

%1 GarT 3RE H ff@a feame foaet 3useeda &7 orar Srar fAeare, e
Options:

1) Kitab - Al Hind

e - 31l e

2) Kitab - Al Bharat

EGERECE G

3) Pustak - Al Hind

TEH - 31 e

4) Pustak - Al Bharat

Y& - 3T R

Correct Answer: Kitab - Al Hind
forarre - 31eT e

Candidate Answer: Kitab - Al Hind
EGICEKC R

QID : 132 - How many union territories does India have as of June 2017?

ST 2017 T AR A fohcdar e anflia weer 82
Options:
1)7
2)6
3)5

4) 4
Correct Answer: 7
Candidate Answer: 7

QID : 133 - The northern plain of India i

HRA T 3ca Helel A T gl
Options:

1) metamorphic soil

FIATART el

2) igneous rocks

AT el

3) alluvial soil

STele et

4) old crystalline rocks
ENCIRERSCIRICHE)

Correct Answer: alluvial soil
STeile #jer

Candidate Answer: alluvial soil

Stelle #er

QID : 134 - Lion, Leopard and Tiger are all species of which genus?

R, =T 3R e3IR T Tl Thefer forer ger & 3 €2

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTgwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 12/25
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Options:

1) Solanum

S IcCr:]

2) Panthera

spirgd

3) Felis

Sie

4) Tigris

reiice:y

Correct Answer: Panthera

GeRT
Candidate Answer: [ NOT ANSWERED ]

QID:135- are made up of sclerenchymatous cells. These are generally absent in the primary phloem but are found in the secondary phloem.

TFNHTSHT HITABIIT & Fa¥ T &1 T T TAAF Feliva 3 7Y 91w 577y *ifehet ¥ gfachges wrarea & o €1
Options:
1) Xylem fibres
AR o
2) Xylem parenchyma

S RewrsaA

3) Phloem parenchyma

FATTH ReersAT

4) Phloem fibres

FATH cie]

Correct Answer: Phloem fibres

FATTH cie]

Candidate Answer: [ NOT ANSWERED ]

QID : 136 - What type of a body plan does coelenterates, ctenophores and echinoderms have?

Rorwter, SER 31N THEas i e THfART fFa R 1 e &2
Options:

1) Annelida

afersT

2) Radial

kines

3) Bilateral

CAERINCE

4) Platyhelminthes
TRl

Correct Answer: Radial

ke
Candidate Answer: [ NOT ANSWERED ]

QID : 137 - If the speed of an object moVing along a straidl Is constant, its motion is said to be

ey Rl EeT 3@ & R AT T ATel aE el diel (L2 TG § o 36 aEg F AT F gl AT B
Options: ‘
1) Uniform

ThHHATT

2) Periodic

Jmadt

3) Circular

FedlshR

4) Non-uniform

THATT

Correct Answer: Uniform

ThyHATT

Candidate Answer: Uniform

ThHHATT

QID : 138 - The strength of a force is usually expressed by its

ol Y YSordT I : 5TH @ A S B

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTgwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 13/25
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Options:
1) Motion
afa
2) Direction
e
3) Interaction
Fedey fopar
4) Magnitude
gfeToT

Correct Answer: Magnitude

qR#ATOT

Candidate Answer: Magnitude

qfkAToT

QID: 139 - is not a storage device.

U $SROT gFd e &
Options:

1) iPod

B ERIES

2) Pen drives

& et

3) Linux

IGGEz:)

4) Flash Disks

worer f3Ew

Correct Answer: Linux

IGGE

Candidate Answer: Linux

IGCEL:

QID : 140 - Magnesium (Mg) + Oxygen (Oy) = ?

HIARTH (Mg) + TS (0y) = ?

Options:
1) MgZO

2) MgO4
3) O;Mg

4) Mgo
Correct Answer: Mgo
Candidate Answer: MgO

QID : 141 - What is the reaction betweerjfan acid and a

IFel 3R &R & g @ arely IAFT A FA dEd 2
Options: 4
1) Desalination

TareraofieRoT

2) Crystallisation

[ExscicTul

3) Neutralisation

3ETHIATRIOT

4) Sublimation

3gTecRoT

Correct Answer: Neutralisation

ECARICICTY

Candidate Answer: Neutralisation

Sereieieor

QID : 142 - According to an estimate, almost ____ percent forests have been lost in the tropics, compared to only 1 percent in the temperate region.

WW*W?Wmﬁmwmmmwgﬁ,mmﬁm gfaerd a1 5 gt 917 1
Options:

1) 20

2) 40

3) 60

4) 80

Correct Answer: 40

Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTgwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 14/25
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QID: 143 - scheme launched by the Central Government is a new crop insurance scheme to boost farming sector in the country.

&g TR EaRT TS & T AT & SN T T AN FIBT AT ToTe & ST 3297 G2 F FHT &1 1 Fo1aT &ofl 31
Options:

1) Soil Health Card

ST T S

2) Shyama Prasad Mukherji R-urban Mission

QITHAT SIS, HESA HR-3768 A

3) Pradhan Mantri Fasal Bima Yojana

JHTAHAT HHST AT ArsTal

4) National R-URBAN Mission

AR IR-376 AT

Correct Answer: Pradhan Mantri Fasal Bima Yojana
TUTAFAT HH STHT Arstar

Candidate Answer: Pradhan Mantri Fasal Bima Yojana
JUTAHAT HA SIAT Arotell

QID : 144 - Who discovered Proton?

greie T @iet fordet 7

Options:

1) Ernest Rutherford

3T TS

2) Friedrich Miescher

e AR

3) Henri Becquerel

[GRUCEEEGE

4) Henry Cavendish

gl dhadfeser

Correct Answer: Ernest Rutherford
FTET TIPS g
Candidate Answer: [ NOT ANSWERED ]

QID : 145 - Who is the winner of 2017 Indian Premier League (Cricket)?

2017 f3aeT NfATR et (Bhshe) #1 faorar #ia &2
Options:

1) Mumbai Indians

2) Rising Pune Supergiant

3 fSer qoT gewaie

3) Delhi Daredevils

e s

4) Sunrisers Hyderabad

TS §eETE

Correct Answer: Mumbai Indians
Candidate Answer: Mumbai Indians

QID : 146 - In which city of India is Dhamek Stupa located?

UTAS FT AR & g e 7 rd §2
Options:

1) Pune

il

2) Delhi

e

3) Varanasi

JRToTHY

4) Hyderabad

gemETe

Correct Answer: Varanasi

ARTOTHY
Candidate Answer: [ NOT ANSWERED ]

QID : 147 - Which of the following was the winner of the Grammy Awards 2016 "Song of the Year"?

PrAfaf@d & & A REHR 2016 a¥ 1 "GiIT T & ST FASIAT HieT AT AT

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTgwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 15/25



9/7/2017 Staff Selection Commision
Options:
1) Alright
3TeRTSE
2) Blank Space
Sole T
3) Girl Crush
ST A
4) Thinking Out Loud
AT 33T 138
Correct Answer: Thinking Out Loud
AT 33T a13s
Candidate Answer: [ NOT ANSWERED ]

QID : 148 - Which of the statements given below are correct?

1. The author of the novel 'Dodgers' is Don Winslow.
2. The author of the novel 'Forty Thieves' is Bill Beverly.
3. The author of the novel 'The Corrections' is Thomas Perry.

A Y T YA H T FlF T HUF TE 82

1. 39T "STer" & AW 7ol AL B
2. 39=01H "BT Neq” F @ [er Saeif §1
3. 3UAE "G A" F e ATHT 3 F

Options:

1) 1and 2

13k2

2)2and 3

233

3)1land3

13Rk3

4)1,2and 3

1,23R3

Correct Answer: 1, 2 and 3

1,233
Candidate Answer: [ NOT ANSWERED ]

QID : 149 - What was Australia's rank in 2016 Human Development In the United Nations Development Programme?

2016 & GYeFd T5g TaHTH HIAHH GaRT ThITRIdT AT e I

Options:
1)2

Sofy a7 2fr?

2) 20
3) 100

4) 200
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

QID : 150 - The Samjhauta Express runs between Delhi to which city in Pakistan?

FASHAT TFaIH el 3R arferedrar & fra erex & o1 3 Terd 87
Options:

1) Karachi

T

2) Islamabad

STATHTETG

3) Quetta

Faer

4) Lahore

IS

Correct Answer: Lahore
R

Candidate Answer: [ NOT ANSWERED ]

QID : 151 - What is the largest 4 digit number that is exactly divisible by 93?

4 3t & Ty T2 FET, S 93 F o X & Rl e ¥, Fw g

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTgwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 16/25
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Options:

1) 9961

2) 9971

3) 9981

4) 9951

Correct Answer: 9951

Candidate Answer: 9951

QID: 152 - A, B and C can finish a job working alone in 20, 30 and 60 days respectively. They all work together for 1 day, then A and B quit. How many days C
working alone will take to finish the remaining part of the job?

A, B 3R C Us &1 & 313her el 20, 30 31T 60 oot & o T &1 @s o 1 Re & forw v oy fRere svia 7, R A 31T B ©is a0 Tt Siia 81 C 31hel 16T
U fohciel el # e g31m A 1 o Ha?

Options:

1) 60

2) 54

3)6

4) 27

Correct Answer: 54

Candidate Answer: 54

QID : 153 - What is the area (in sq cm) of a rectangle of perimeter 90 cm and breadth 20 cm?

90 &%, Hr R 31 20 @7, e arer T I FT Aw (FFF A.AL FH) FATR?

Options:

1) 500

2) 400

3) 250

4) 450

Correct Answer: 500

Candidate Answer: 500 /

o

QID : 154 - If the selling price of an item is Rs 9750 after getting a discount of 25%, then what wé$ ’«s%mked‘price (in Rs)?

Options:
1) 13000
2) 12187
3) 14000
4) 13187
Correct Answer: 13000

Candidate Answer: 13000

QID : 155 - If 3A = 2B = 4C; then what is AL

IfE3A=2B=4CEAMA:B: CFI§?
Options:

1)3:2:4

2)6:4:3

3)4:6:3

4)2:3:4

Correct Answer: 4:6: 3
Candidate Answer: 4 : 6: 3

QID : 156 - The average cost of 5 items in a shopping list is Rs 650. If one more item whose cost is Rs 1400 is added to the list what will be the new average (in
Rs)?

GUERY &1 Gl # 5 3T 1 3T B 650 T &1 Al 1400 & HIAT arelt Teh 3 awc] A 3 376l Sireht §, A 713 e (T #) F2m g

Options:

1) 775

2) 875

3) 725

4) 825

Correct Answer: 775
Candidate Answer: 775

QID : 157 - If a vendor sells apples at Rs 170 per kg he suffers 15% loss. If he sells at Rs 230 per kg, then what is his profit percentage?

i Teh fashell 170 % 9fcT .31, 1 e & A el § ot 33 15% Johared giall &1 230 T Gicl 6,317, OR o=l & SHeRT of1eT Ffeiere fehctar grom?
Options:

1) 15

2) 10

3)5

4) 20

Correct Answer: 15

Candidate Answer: 15
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QID : 158 - If 40 is 0.05% of x, then what is the value of x?

g 40, x FT 0.05% & A x T AT F2T §?
Options:

1) 80000

2) 8000

3) 800

4) 80

Correct Answer: 80000

Candidate Answer: 80000

QID : 159 - A taxi going at 90 km/hr takes 35 minutes to travel a certain distance. By how much should it increase its speed (in km/hr) to travel the same distance

in 21 minutes?

e Eerelt 90 Rellehiex / it BT ToeTe & TRl gt it T 35 fiere 3 O el &1 38 gt 1 21 et 3 O Y & T 3y arfey (Reoiteiie/sier #) 3% Rrereh i

FTAT AIRT?

Options:

1) 60

2) 150

3) 120

4) 90

Correct Answer: 60
Candidate Answer: 60

QID : 160 - If compound interest received on a certain amount in the 2nd year is Rs 1200, what will be the compound interest (in Rs) for the 4th year on the same

amount at 10% rate of interest?

I v AfREd TR ) gat av ured awghg sarsr 1200 % §, aF 38 TRT ) 10% 47t &3 & = af &r

Em:g‘(xﬁ)mm'aﬁvrr?

Options:

1) 1452 N
2) 1320 i

3) 1552 _ }
4) 1420 "N —-—

Correct Answer: 1452
Candidate Answer: [ NOT ANSWERED ]

QID: 161 - If 17/3 + [3(2x - 5/3)]/2 = 1/6, then what is the value of x?

afg 17/3 + [3(2x - 5/3)1/2 = 1/6 §, AT x T AT FAT 87
Options:

1)1

2)3

3)-3

4)-1

Correct Answer: -1
Candidate Answer: -1

QID:162-Ifa+b=5andab =6, theﬁ what is the vi

gfda+b=53Nab=06% dra + b3 & At a1 &7
Options:

1) 32

2) 38

3)35

4) 34

Correct Answer: 35

Candidate Answer: 35

QID : 163 - The sum of a fraction and 3 times its reciprocal is 37/10. What is the fraction?

Teh it 3R 38 cgeshd & 3 0N 0 AT 37/10 B| a8 e o 82

Options:

1) 5/2

2)2/5

3)5/4

4) 4/5

Correct Answer: 5/2
Candidate Answer: 5/2

QID: 164 - The 4t and 7t term of an arithmetic progression are 11 and -4 respectively. What is the 15t term?

FATR Hoft 1 At 3R ardar ue A 11 3R -4 §1 15-a7 ug #7247 §?
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Options:
1) -49
2)-44
3)-39
4) -34
Correct Answer: -44
Candidate Answer: -44

QID : 165 - What is the reflection of the point (5, -1) in the liney = 2?

@y = 2 # &g (5, -1) 1 yfdfes Far §?
Options:

1) (5,-5)

2) (-5, -5)

3) (5 5)

4) (-5 5)

Correct Answer: (5, 5)

Candidate Answer: (5, 5)

QID : 166 - In what ratio is the segment joining points (2, 3) and (-2, 1) divided by the Y-axis?

&g (2, 3) 3R g (-2, 1) T SN ATeT IWIES Y-376T SaRT 6 3eared & fasniorar fomam Siram &2
Options:

1)1:2

2)1:1

3)3:1

4)2:3

Correct Answer: 1: 1
Candidate Answer: 1 : 1

QID : 167 - What is the slope of the line 2x - 5y = 12?

@ 2x - 5y = 12 T Tallel 7 8?2
Options:

1) 2/5

2)5/2

3)-2/5

4) -5/2

Correct Answer: 2/5
Candidate Answer: 2/5

QID : 168 - Triangle AXYZ is similar to APQR. If XY:PQ=5:1. If sq cm, what is the area (in sq cm) of AXYZ?

T AXYZ, APQR & &Y g1 I XY:PQ=5; €, df AXYZ T &19%e (391 Q.3 /) Far §?
Options:

1) 125

2) 120

3) 100

4) 64

Correct Answer: 125
Candidate Answer: 125

QID : 169 - What is the value of Cot 60° - Sec 30°?

Cot 60° - Sec 30° T AT FT §7?
Options:

1)-1/3

2)-1/V3

3) 1/V3

4)1/3

Correct Answer: -1/v/3
Candidate Answer: -1/V/3

QID : 170 - A ABC is right angled at B. If m£A = 30°. What is the length (in cm) of AB, if AC = 8 cm?

A ABC, B O THSHIUT §| TfE mzA = 30° §, aY AB T oiaTs (FErefiex #) Far ¢, afg AC = 8 défer &2
Options:

1) 2v3

2) 43

3) 4/V3

4) 2/V/3

Correct Answer: 4V3

Candidate Answer: 4/v3
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QID : 171 - If Cot 6 = 24/7, then what is the value of Sec 6?

fe Cot B = 24/7, @ Sec 8 FT AT T &2

Options:

1) 7/25

2) 25/24

3) 8/25

4) 9/25

Correct Answer: 25/24
Candidate Answer: 25/24

QID:172 -
The line graph shows the record of number of admissions to a certain coaching centre from 2011 to
2016. Study the diagram and answer the following questions.
AT AE 2011 H 2016 AF U Fi¥ag s dex & ofge &1 b & =i T &
T WA F e w1 H R ot & oaew )

400
350
350 -
300 -
250 -
200 -

150
150

Admigskons fq‘ﬁﬁ'
g

100

S0

Q T T T 1
2010 2011 2012 2013 2014 2015 2016 207

Year /o

In how many years was the number of admissions greater than that of the previous year?

Tohctel oot & ool a & ool & @t T dean it o9
Options:

1)2

2)3

3)1

4)4

Correct Answer: 3

Candidate Answer: 3

QID:173-
The line graph shews the record of number of admissions ta a
2016, Study the diagram and answer the following qu:
AR AE 2011 W 2016 AF T ¥ ®iRRr
S AR W A w1 3R e

400

Admissions fq'ﬁﬂ‘
g 8

] T T T d
010 2011 012 2013 2014 2015 2016 7

Year fﬂ

Ignoring year 2016 how many students took admission in the coaching centre since its inception in the year 2011?

T 2016 FHT BISHY, a¥ 2011 & 3IRH & 16 F el ST o HIfIer VeI H giider forar?

Options:

1) 1300

2) 1200

3) 900

4) 1000

Correct Answer: 1000

Candidate Answer: 1000
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QID: 174 -

The line graph shows the record of number of admissions to a certain coaching centre from 2011 to
2016. Study the diagram and answer the following questions.

IS AF 2011 W 2016 76 U fafiad 0w dex 7 afgw 1 wwn & s fomm
T HE F Femae & 3R e ae & 3o &

400
350
350 -
300 -
250 -
200 -

150
150

Admisions [ g

100

S0

1] T T T 1
2010 2011 2012 2013 2014 2015 2016 2017

Year / ok

Admissions in the year 2014 grew by percent as compared to the previous year.

el af &1 qefar 7 av 2014 F erf@et & gfcrerd #r i g%
Options:

1) 50

2) 100

3) 40

4) 66.67

Correct Answer: 66.67

Candidate Answer: 66.67

QID:175-
The line graph shows the record of number of admissions to a certain coaching centre from 2011 to
2016. Study the diagram and answer the following questions.

A IWE 2011 H 2016 AF TF FATFag s dex & ofge &1 den & i T g
= W F e w1 H P ot & 3o )

400

150

Admisskons fu‘ﬁﬂ'

2010 2011 2012 2013 2014

Year /o

If fees charged by the coaching centre was Rs

e first 3 years and Rs 12000 for the next three years then what is the total fees (in Rs. Crores) collected
by the coaching centre in the last six years?

T, AT FeX HT Yok TUA 3 aut & fIT 10000 & 3R 31T & et auf & AT 12000 % &1, o oo o avf & MRl FeX gart v & 78 Fo Yo (3 T H)
TRt 2?

Options:

1) 1.48

2)1.38

3)1.28

4)1.18

Correct Answer: 1.48
Candidate Answer: 1.48

QID : 176 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

They did nothing (1)/ that was down the (2)/ dignity of princes. (3)/No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 2
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QID : 177 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate

option. If a sentence is free from error, select 'No Error'.

What are (1)/ you doing (2)/ by here? (3)/No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 3

QID : 178 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and

indicate it by selecting the appropriate option.

Do you own a copy of Shakespeare's Hamlet?
Options:

1) chance

2) chances

3) perchance

4) by chances

Correct Answer: perchance

Candidate Answer: [ NOT ANSWERED ]

QID : 179 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and

indicate it by selecting the appropriate option.

A police detective often finds himself in the position of having to between a lie and a truth.
Options:

1) extinguish i

2) distinguish . sesenss
3) finish / »

4) languish }
Correct Answer: distinguish - K P
Candidate Answer: distinguish \‘) -

QID : 180 - In the following question, out of the four alternatives, select the word imil?rfr‘i“mean'ngfté/the word given.
Commemorate )

Options: -l

1) Opprobrium

2) Reproach

3) Disrepute

4) Celebrate

Correct Answer: Celebrate

Candidate Answer: Celebrate

QID : 181 - In the following question, out of the ect the word similar in meaning to the word given.

Plebiscite

Options:

1) Referendum

2) Tyranny

3) Despotism

4) Monarchy

Correct Answer: Referendum

Candidate Answer: Referendum

QID : 182 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Rampage
Options:
1) Binge

2) Frenzy
3) Harmony
4) Turmoil

Correct Answer: Harmony
Candidate Answer: Harmony

QID : 183 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Blasphemous
Options:

1) Pious

2) Profane

3) Sacrilegious

4) Irreligious

Correct Answer: Pious

Candidate Answer: Pious
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QID : 184 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To have something on the brain

Options:

1) To be obsessed with something

2) To be ready with an immediate smart witty reply

3) To unable to solve a particularly difficult philosophical problem
4) To think wistfully about past life

Correct Answer: To be obsessed with something

Candidate Answer: [ NOT ANSWERED ]

QID : 185 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Not one's cup of tea

Options:

1) To stop having breakfast

2) To accept defeat even before attempting to take up the challenge
3) To be satisfied with less

4) Not one's choice or preference

Correct Answer: Not one's choice or preference

Candidate Answer: Not one's choice or preference

QID : 186 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

The battle (to rage) for some time.
Options:

1) is raging

2) has been raged

3) had been raging

4) no improvement £
Correct Answer: had been raging ¢ )
Candidate Answer: had been raging P \\ A

)

QID : 187 - In the following question, out of the four alternatives, select the alternative Wthh v&u |mprg2e the bracketed part of the sentence. In case no
improvement is needed, select "no improvement". { )

.

She glanced back to make sure she (wasn't to be) observed.
Options:

1) wasn'tbe

2) weren't being

3) wasn'tbeing

4) no improvement

Correct Answer: wasn'tbeing
Candidate Answer: wasn'tbeing

QID : 188 - In the following question, out of the o ct the alternative which is the best substitute of the words/sentence.

The crime of betraying one's country
Options:

1) Treason

2) Frankness

3) Fidelity

4) Allegiance

Correct Answer: Treason

Candidate Answer: Treason

QID : 189 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Fanatical and uncompromising pursuit of ideals
Options:

1) Nonpartisan

2) Zealotry

3) Neutral

4) Aloof

Correct Answer: Zealotry
Candidate Answer: Zealotry

QID : 190 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) Composure

2) Cumposure

3) Composore

4) Cumposore

Correct Answer: Composure

Candidate Answer: Composure

QID : 191 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
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Options:

1) Alliviate

2) Aleviate

3) Alleviate

4) Aliviate

Correct Answer: Alleviate
Candidate Answer: Alleviate

QID : 192 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

"Phew," said I, grabbing
X-cheerfully round my head
Y-at the halo of flies
Z-which buzzed

Options:

1) YZX

2) YXZ

3) Xzy

4) XYZ

Correct Answer: YZX

Candidate Answer: YZX

QID : 193 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

The investigations of the
X-peculiar place in the economy of the body
Y-physiologist and the psychologist {

Z-have revealed that the brain holds a

Options:

1) YXz o

2) XzY 4

3) XYz

4) YZX o \\

Correct Answer: YZX { \)

Candidate Answer: YZX o~
CN

2 udf

i

)

o

QID : 194 - In the following question, a sentence has been given in Active/Pas: , Out of}he four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice. o

The choir really enjoys that piece.
Options:

1) That piece are really enjoyed by the choir.
2) That piece is really enjoyed by the choir.

3) Enjoyment of that piece is done by the choir.
4) Enjoying of that piece is done by the choi
Correct Answer: That piece is really enjoyed b

Candidate Answer: That piece is really enjoyed b

QID : 195 - In the following question, a sentence has bee
expresses the same sentence in Indirect/Direct speech.

Direct/Indirect speech. Out of the four alternatives suggested, select the one which best

Akash said, "Mahesh has gone home."

Options:

1) Akash said that Mahesh has gone home.

2) Akash said then Mahesh had gone home.

3) Akash said then Mahesh has gone home.

4) Akash said that Mahesh had gone home.

Correct Answer: Akash said that Mahesh had gone home.

Candidate Answer: Akash said that Mahesh had gone home.

QID : 196 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Most of all to the rambler on avian lore intent is the fact that there are many species and genera that are peculiar to the
West, and new to him, keeping him constantly on the 'qui vive'. Colorado you will look in vain for the common
blue jay, so abundant in all parts of the East; but you will be more compensated by the presence of seven other species

the jay household.

Most of all to the rambler
Options:

1) interesting

2) interest

3) interested

4) interests

Correct Answer: interesting
Candidate Answer: interesting
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QID : 197 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Most of all to the rambler on avian lore intent is the fact that there are many species and genera that are peculiar to the
West, and new to him, keeping him constantly on the 'qui vive'. Colorado you will look in vain for the common
blue jay, so abundant in all parts of the East; but you will be more compensated by the presence of seven other species
the jay household.
West, and new to him, keeping him constantly on the 'qui vive'.
Options:
1) therefore
2) because
3)if
4) for

Correct Answer: therefore
Candidate Answer: therefore

QID : 198 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Most of all to the rambler on avian lore intent is the fact that there are many species and genera that are peculiar to the
West, and new to him, keeping him constantly on the 'qui vive'. Colorado you will look in vain for the common
blue jay, so abundant in all parts of the East; but you will be more compensated by the presence of seven other species

the jay household.

Colorado you will look in vain for the common blue jay
Options:
1) On
2) In
3) Into
4) Onto
Correct Answer: In

Candidate Answer: In

¥
QID : 199 - In the following passage, some of the words have been left out. Read the passage careflilly, and,seléct the correct answer for the given blank out of the
four alternatives. A

L
Most of all to the rambler on avian lore intent is the facttfatthere afe many species and genera that are peculiar to the
West, and new to him, keeping him constantly on the 'qui vﬁe'. A Colorado you will look in vain for the common
blue jay, so abundant in all parts of the East; but you will be more ompensated by the presence of seven other species
the jay household.

but you will be more compensated
Options:

1) then

2) that

3) than

4) this

Correct Answer: than
Candidate Answer: than

QID : 200 - In the following passage, some of the words
four alternatives.

n left out. Read the passage carefully and select the correct answer for the given blank out of the

Most of all to the rambléer on avian lore intent is the fact that there are many species and genera that are peculiar to the
West, and new to him, keeping him constantlyonthe'quivive'._____ Colorado you will look in vain for the common
blue jay, so abundant in all parts of the East; but you will be more compensated by the presence of seven other species

the jay household.

presence of seven other species the jay household.
Options:

1) for

2) to

3) of

4) off

Correct Answer: of

Candidate Answer: of
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